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20)<P and <A are equal

b) < P+ <A = 1%0°

¢) <P= 2<A or <A= /<P
d) <P and <A are ﬁCLL,LQl

Oj <A=<13 because -'H'ue:\; are booth
iNsScribed cmirjlc—:s drawn from aorc TS

M= H2°

h) PQ s a diameter
<S = 9Q°



Ha) Central ﬂng\e*—“— 2 (20°)

= 4Q°
b) Central ﬁr\8\~‘2= 2 (40°)
= 8O°
) Central ﬁn\c‘jifa‘: 2 (%0°)
= (60O°

5a) _J'__)nSC.ribed ﬂﬂ8\€= BQ°
2
- qoo

b) l)nscribed HnSle= 50°
2
— Q_,So

C) .I)HSCTIbEd Pm\cjle,"—' LQLEL
= 86°




6.0) <BAD=<BCD =>q0°

b) < LKM =< | RM=<|_SM 2
<KKRS=<KMS
<RLS =<RrmMS R
<KLR = <KMR




Ta) a°= 9.('-’.0")
GG . goo

X The mecsure of the central anale in a
crcle 3 twice +he inscribed o S\c
drawn fromthe Same arc. ‘

by b'= 1l
2
= %Oo

X

rﬁ?\e measure of the nscrbed cmgle in Q
ciccle is half of +he central CmSif:
drawn fram The Same arc.



8a)x =MO°
Y 0: 50‘3

X :lfiwsc;r"bed anales drawn from the Same.
arc Gre equ |

b) p°=40°
Q= o

X fnscrtbe_d an 3\&23 draw‘n From G
diame+er are



9a) %x°= 180=106° °= |80 85°
= "N°© L%qs"

X Opposite angles in an inscribed ctmdru'.ai'eml
ave Eupp\emen+qrj

b) p
qJ— 68
K JJ\SCr\bE'_C’s_ QrS\ES drawn ftom the same arc

are e_cbua\ |

) m°= 90°
L
mc,___ 'I\'ISG

X The IﬁSCrled Qngle 1S PLCLH: of the central
Cmcjle. drawn frem the same arc .

10



d) +°=ac”

K Thscn ~ ‘
nscr bed QT‘B\QS Arawn o o diameter

are €90°

e) b=180>-102°
b= 18"

X Opposite a

G°=180-76°
a?= 10M°

\les '« an inscribed C{E,l(}dfl \CH'EFG\

are supplend n-+ur\j*

§) s°=M2°
= 56°

X ‘fﬁf‘:ﬁn‘o&c\ G

eS drawn from the same

AQrc are ec(bw. :
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10.a) s 2(=C%)
\/“:60"
K The central angle will be twice +he
nscnbed QnS\E- hen drawn from +he Same arc

) Since <P=90", Tnscribed angle drawn on a
diameter
%A°=180-90°- H0°

xX°= BHo° ( F\nalc sum of a 'fr\cm\a\e—)
¢) x'= INC°
_ L
xX°= 10°

X The wmscmbed angle will be half of the
central angle when drawn ffom the same arc.

12



d) xX°= 2}30 }'k I)nscnbed (m \eS drawn from the

Y""’MZ Same arc N\\\ be ect_ual
K= 8°=> 180°-42°- 28° 7 Angle sum
= {10° of Ta 'hiunﬁ\e-
K= 110°
§°=110°
) = 294° } K Thscribed angles drawn from
K NR® Yhe Same ard will be e.ctu.al-

°=|180~29°M8°
cif-: \O3° (F—\n&\t sum of a'ﬁinn_gic)
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£) Vo= 1RO%-ME
\/“: \3Y°

¥ Opposite angles in an inscribed cﬁmc\n\a‘rem\
are Supplementary-

%X°= 180-20%-13N° |
X = R6° (P\ﬁfj‘\& sum of « "fviuﬁfj\t)

14



	Page 1: Oct 8-8:08 AM
	Page 2: Oct 8-8:09 AM
	Page 3: Oct 8-8:09 AM
	Page 4: Oct 8-8:14 AM
	Page 5: Oct 8-8:10 AM
	Page 6: Oct 8-8:10 AM
	Page 7: Oct 8-8:10 AM
	Page 8: Oct 8-8:10 AM
	Page 9: Oct 8-8:10 AM
	Page 10: Oct 8-8:11 AM
	Page 11: Oct 8-8:11 AM
	Page 12: Oct 8-8:11 AM
	Page 13: Oct 8-8:11 AM
	Page 14: Oct 8-8:11 AM

